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Popis produktu 
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Popis zapojení 
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vzniká sytý základní tón  („objem“). 
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Technické údaje 
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C1 =   10  µF   elko 
C2 =   0,1 µF  = 100 nF = 104 foliový 
kondenzátor 
C3 =   2,2 µF   elko 
C4 =   2,2 µF   elko 
C5 =   4,7 µF   elko 
C2 =  470 µF   elko 
 
 
1.4 Tranzistory 
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T1 = BC 557, 558, 559 A, B nebo C – 
tranzistor s malým výkonem 
T2 = BC 557, 558, 559 A, B nebo C – 
tranzistor s malým výkonem 
T3 = BC 557, 558, 559 A, B nebo C – 
tranzistor s malým výkonem 
T4 = BC 557, 558, 559 A, B nebo C – 
tranzistor s malým výkonem 
T5 = BD 676 nebo BD 678        – 
Darlington 
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P1 = 25 k 
P2 = 47 k resp. 50 k 
P3 = 10 k 
P4 = 10 k 
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Plán osazení: 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


